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No. of Questions : 180

Tl ! H&HAT: 180
Time : 2 Hours Full Marks : 450
"Hg : 2 GUe qurfs : 450
Instruction :
fadvr :

.This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under:

T M- ﬁﬁgﬁﬁqﬁawﬁwmmﬁa%ama@uﬁu&m,ﬁmﬁaaﬁh
& o faww § ;

(a) Section - I : Consists of 120 Objective Type Questions on Gen-
eral Awareness, Mental Ability, Comprehension and Subject
Awareness in some major subjects.

(3 @wWus -1:97 1zoa§ﬁwﬂqmmm,mﬁmmmﬂ@
eT faedl % 39 W e 8

(b) Section - II : Consists of 30 Objective Type Questions on (I}
English Language and (II) Hindi Language.

(@) WUS-II: i’raoagt%ﬁs‘eqhw ()3irsh W ik (1) = 9w % 99
Ll Ll

The candidate is required to attempt as many questions as he/she
can of Section-I, and Questions on ANY ONE of the TWO Language

papers () English OR (II) Hindi in Section -II.
el ¥ onfiga € fr @ue -1 ¥ sifiiyes oA 9 @WUS 0 F (1)SiESl @
(I0) fet s 9 & SIfEsiysd I B e H

Note:{1) Each question carries 3 {Three) marks. One mark will be de-
ducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.

3 P.T.O.
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(2)

(3)

Y% JOT 3 (FI7) IiF W R FAF TAT I & 67T Uk AW FRT
TTEAT | FA% STRG WY 1 WIWi% Y BRI

If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

4% Tt dEfors IW I8 SW & e e &, A fgear v s &

Each question is followed by Four alternative answers (1),{2),(3}
and (4). One of these answers is correct. Select the correct and
record it against the relevant question in the ANSWER-SHEET by
darkening the circle with Ball Point Pen as per guidelines.

T W9 % R dehieqsw S Yg 1 ¥ R (1),(2),(3) T (4) S
¥ gl T B T ¥ Pael TF IW @ @ 1 wE SW G awm IwE
Gard Y FA-qfieET § qomeedl 79 F e fwmer st g9 (i)
H SIS WFUE U BRI HicH Fleh auigd|
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SECTION -1
@vuE - I

01. On whose birthday Education Day is celebrated in India ?

(1} Rajendra Prasad : (2) Jawaharlal Nehru
(3) S:. Radhakrishnan (4) Abul Kalam Azad
ferereh sTafde oAt Wi | e o & =9 # dwman ojer @ 7
(1) TS= ud= | (2) SEEY AT JEE
(3) UHo TLUTHWIT (4) oTSET HTH AR
02. "Diabetes Day” is observed on :
(1) 14" November (2) 20" December
(3) 18" March (4) 5™ May

“grafafest Raw’”’ &g q9mEr Sar 8 ?
(1) 14-a=T  (2) 20 Rasw (3) 18 #d (4) 5 HAS

03. Steve Jobs was the co- founder of :

(1) Microsoft (2) Intel (3) Apple  (4) H.P.
WG Sied has Oe gegs g 7 |
(1) #HgH A (2) Fod (3) U« (4) THodlo

04, Which number should come next in the series given below :

BEA-E Hewr A9 Ry wH F et e 7
1,2,6, 15,31, coeereeennn.
(1) 56 (2) 63 (3) 72 (4) 54

5 P.T.O.
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0S.

06.

07.

08.

Which of the following folk dance forms is associated with Gujarat ?

(1) Nautanki (2) Garba {3) Kathakali (4) Bhangra

51 H Q@ B9 9 Wi T PO H S ¢
(1) St (2) TIReN (3) THHHE (4) “TST

S_liccessive discounts of 10%, 20% and 20% are equal to a single

discount of :

(1) 57.6% (2) 424% (3) 50% (4) None of these

10%, 20% 4T 20% ! HAM: G HA fha=t s 7

(1) 57.6% (2) 42.4% (3) 50% (4) 3H & g Ll

What is Lavasa ?

(1) Satellite (2)  Proposed township
(3) Govt. plan (4) Country

‘S FET 8 7

(1) S4uus (2) UEAlEe 9©T

(3) F@HRY TISTAT (4) 2=

In a class composed of x girls and y boys what part is compo.sed of
girls ? |

sk FaT e x asedl qur y wed ¥ Al oad Reae et ¥ ?
(1) y/(xty) () x/xy 3) x/{x+y) (4 y/xy



09.

10.

11.

12.

12U/113/26(i)

Kanyakumari, is :
(1) North of tropic of Cancer (2) South of Equator
(3) South of Capricorn (4} North of Equator

HITRARL
(1) heh @M & I 7 B (2) frwex Y@m & T F B
(3) W?@T%aféwff% 4) fwad Y@ & Se 7

What are the next two letters in the series given below ?

ﬁ%ﬁﬁ@amwﬁm%a:{mﬁﬁﬁ%?

() J,L @ KN 3) K, M 4) L, N

Who wrote “An Area of Darkness” ?

(1) R. K. Narayan (2) V.S. Naipaul
(3) Salman Rushdie {4) Vikram Seth
‘e uftem ifs seRRw fREq Tl 7

(1) ¥Ro &o ARFT (2) ouTo AT
(3) EEH @Y (4) g s

The only private sector refinery set up by Reliance Petroleum Ltd, is
located at : : -

(1} Guwahati (2) Jamnagar (3) Mumbai (4] Chennai

wer B ?

(1) TaTereY (2) SR (3) T8 (4) =g

7 P.T.O.
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13.

14.

15.

16.

17.

Which organ malfunctioﬁs in diabetes ? -

(1) pancreas (2) lever (3} kidney {4) heart
SEfeEN o B 9 ST ®H A8 BT 7

(1) UiRFart (2) wEx (3) fre=t (4) B

If 13=13w/(1-w), then (2w)? =
q¥13=13w/(1-w), T (2w)2 = I ATA AN :
(1} 1/4 (2) 1/2 (3) 1 (4) 2

The Salal Project is on the river :

{1) Chenab (2} Jhelum (3) Rawi (4) Sutlej
Hoired e o <l W ® 7
(1) I (2) HH (3) Tl (4) Gt

Which number should come next in the series given below ?

D Ry o1 § Raa &= & der sard ?
2, 3,5, 7, 11, -, 17 |
(1) 9 (2) 15 (3) 13 (4) 14

Which of thé following dances is a solo dance ?

(1) Ottan Thullal (2) Kuchipudi
{3} .Yakshagana ' (4) Odissi
TTH | DI AT T JA B 7

(1) SfeF YT (2) FHEIgS!
(3) =T (4) offewr
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18. When was the Second Battle of Panipat fought ?

IO & gEd TS 9 BR ¢

(1) 1526 (2) 1556 [3) 1540 (4) 1561

19. A person of which of the following blood groups is called a universal
recipient ?

(1) O (2) AB (3) A _(4) B
g9 ¥ B 8 W g9 B AfF giheda Sme g 7
(1) =N 2 wlt 3) W (4) &

20. What is the body temperature of a normal man ?

W it w1 RS I w4 B 7
(1) 8l.1°C (2) 36.9°C  {3) 98.6°C (4) 21.7°C

21. In which language did Indira Goswami write ?
(1) Assamese (2) Bengali (3} Gujarati (4) Hindi
- givar M fBee e @ Aftaeer € ?
(1) S (2) s (3) STl (4) &=l

22. The largest circular storm in our solar sysfern is on the surface of
which of the following planets ?

(1) Jupiter (2) Venus {3) Uranus (4) Earth
9 #vs & 9 T8 9 e g o ¥ 7
(1) Fewly  (2) 9B (3) 3| (4) gt

9 P.T.O.
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23.

24.

25.

26.

One Jupiter day is equal to which of the foilowing ?

(1) - 30 hrs 40 min (2) 9 hrs 50 min

(3) 3 hrs 20 min : (4) 52 hrs 10 min
gewiy & uh R gl & o q7a & a3E @ 7
(1) 30 &= 40 fiFe (2) 98g= 50 e
(38) 3 = 20 fire @) 52 g 10 faHe

A Comet's tail points in which direction ?
(1} Towards the sun (2) Towards the earth
(3) Behind the comet in its orbit (4) Away from the sun

gesel o & U5 fea Rem & kit 3 7
(1} g @l el (2) gt W
(3) ITepl Hem H AW H X (4) W aEa W

Which of the following groups of states has the largest deposits of
iron ore ? :

(1) Andhra Pradesh & Karnataka (2) Bihar & Orissa
(3) Madhya Pradesh & Maharashtra (4) West Bengal & Assam

'ﬁﬁﬁ%aww'ﬁmwﬁa—mﬁw%?

(1) STomRe od sies (2) foER wd I
(3) WHURY U HERTSY (4) Yo ST U EH

The main constituent of hemoglobin is :
(1) Chlorine (2) Iron (3) Calcium (4) None of these

RAFARE & gea aa T § ? |
(1) =i (2) AERA  (3) dewam (4) AT

10
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27. Out of the four given alternatives, choose the most appropriate de-

28.

29,

scription about the following three words given below :

Madras : Vishakhapatnam : Rangoon

(1) They are Indian naval bases

(2) They are ports situated on the coast of Bay of Bengal
(3) They are capitals of states
(4) They are famous for their architecture

Pl orex @9 @ FIC ol S9gst Raer #@r e ?
Hare: faemerdeT sy« A

(1) F 9da & T @ a9 §

(2) I T F GEN BH TEINE ©

(3) o wogt gt votenferat @

4) I wasr Frator e & forg ufoss B

Find the wrong number in the series given below :

Ffra&wa d &9 ar o T9a & 7

3, &, 15, 24, 34, 48, 63
{1) 15 (2) 24 (3) 34 (4) 48

The poliutant responsible for ozone holes is :

(1) Co, (2) SO, (3) cO (4) CFC
e g # 8¢ & fog i Pedar & 7

(1) &t e, (2) wq &,

(3)° €1 on (4) 9 ok ad

11 P.T.O.
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30. Which instrument is used to measure pressure of fluids ?
{1} Sacchari merer (2) Am meter
(3) Mano meter (4) Lacto meter

o] T S HI9h I hII @r g ?

(1) |y diex (2) Ty Hre
(3) & Hlex (4) Q=T WexT
31. Which country produces the maximum sugar in the world ?
(1) USA (2} India (3} Cuba (4) Brazil
fagg § w@Q otfoes =W #El Y= BiRdl & 7
(1) 89U (2} WHA (3) =HET (4) STSI

32. Choose the correct alternative to complete the series :
el fased et &9 g DY
--aba -- ba-ab
(1) abbba (2) abbab {3) baabb (4} bbaba

33. When seen through a mirror, a clock shows 8:30 . The correct time is:

Mz § 3| 9T Uy 8:30 I @AY a9l ¥ | WE oWy | e 7
(1) 2:30 (2) 3:30 (3) 5:30 (4} 8:30

34. In which state of India is Maithili language spoken ?

(1) Maharashtra (2) Bihar

(3) Manipur (4) Chhattisgarh

AR & g uow § ARl wor Aol Sl § 7

(1) HBRTE 2) faer (3) #IYT (4) BEETS

12



35.

36.

37.

38.

12U/113/26{i)

Animal dung is - waste ;

{1} ‘biodegradable (2) non- biodegradable
{3} hazardous (4) toxic

gg] T dw B 7

(1) SEfsuSee (2) A sAfsiege
(3) BOHEd (4) TR

Anil introduces Rohit as the son of the only brother of his father's
wife. How is Rohit related to Anil ?

(1) Cousin (2} Son - (3} Uncle (4) Son-in-law

atfvier UTed & 9itaT o1uA gt &1 9T & Zehalid 18 & @SS &

=7 § BT B 1 T SEEH T B Y
(1) #70 wE (2) " (3) =wET (4) &EE

A, B, C, D, E and F are secated in a circle facing fhe centre. D is
between F and B. A is second to the left of D and second to the right
of E. Who is facing A ?

(1) B 2) D (3) F (4) Either For B

T, &, ®, S wd U% TH TR GRR 7 G @ ot HE #X S0
TIE, O AR A & ST B 1, S H g A% g 5 X g A

BIE qh GET 1T B A BT B 7

(1) &t 2) & (3) TH 4) ©® a1 ;H;

Choose the group of letters which is different from others :

(1) BD 2) IK (3) PN (4) SU
ZTH § WA e o gHd § e g 7
(1) & € 2) E & (3) I 4y T3

i3 P.T.O,
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39.

40.

41.

42.

Largest island in the world is
{1) Australia’ (2) Greenland
{3) New Guinea {4} None of these

givam @1 =9 99T 9 HA A © ?
(1) emfmr  (2) Wems (3) g et (4) 399 3 %8 =99

Choose the pair in which the words are differently related from ihe
below ?

(1) Flower ;Petal (2} Chair : lLeg
{3) Circle: Arc (4] Cover : Page
e otz gt # @9 W ST O I 9 g BT
(1) % @ 4G (2} HAT W
(3) T eyl 4) AT =T

Oncology is the study of :

{1} Birds (2) Cancer {3) Mammals {4) Soil

WMHW%?

(1) w&ft 2) FE 3y T (4) 9aET
Ordinary table salt is sodium chloride. What is baking soda ?
(1} Potassium chlonde {2) Potassium carbonate
(3} Potassium hydroxide (4} Sodium bicarbonate

HHRG w9E AisaH FAREe 31 afpT |t o & 7

(1) aferm wrEs (2) W FRAAT

(3) Grefyrw BEgrEEEE (4) =ferm amwEFe

14



43.

44,

45.

46.

12U/113/26(i)

Choose a group of alp-habcts which is related in the same way to a
third group provided in the question below :

ABCD: OPQR :: WXYZ : ?
(1) EFGH (2) KLMN (3) QRST (4) STUV

3 RE 7 e w= T8 % FIET gE A= GYE H YU HY 7

el TS G IR g e e | SRR C G M e =S - S

(1) g U% =t @ (2) @ Ol o udq

- @3) T AR g (4) T g
Zend Avesta is the religious book of :
(1) Parsis (2) Buddhists {3} Jains {4) Muslims
“Ha sraer feE ot gRiE 2 7
(1) 9T (2) ars (3) 39 (4) FEHA
Meteorology is the science of :
(1) Weather (2) Meteors (3) Metals (4) Earthquakes
ffeRasT e s 8 7
(1) ArEs (2) I (3) =g (4) Y

Ecology deals with :

(1) Birds

(2) Cell formation

(3) Relation between organisms and their environment
(4) Tissues

18 P.T.O.
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47.

48.

49,

gl e ST Far & 7
(1) @t (2) @R
(3) g ol IEH qEfeRer (4) Reg

Pollination is best defined as :

(1) Transfer of pollen from anther to stigma
(2) Germination of pollen grains

(3) Growth of pollen tube in ovule

(4) Visiting flowers by insects

qlef e /=T 8 °?

(1) weR & e as A& &1 d=aon
@) dF I H e

(3) g & U oIw i faemre

(4) el H BT FGEIl 9T Hr

Photosynthesis generally takes place in which parts of the plant ?
{1) Leaf (2) Stem (3) Roots (4) . Bark

Qi P ey B T depreT HeAWeT BT § 7

(1) ufcar (2) =1 (3) = 4 B

Which of the following mammals are most intelligent ?

(1} Whales (2) Dolphins (3) Elephants (4} Kangaroos
T ¥ AT A AR g8 R 32
1y =« 2) sfReEa (@) zeEd @) wms

16



50.

51.

52.

S53.

54.

12U/113/26(i)

Pyorrhea is a disease of the :

(1) Nose (2) Gums (3) Heart (4) Lungs
qEREr AT &l e & 7

(1) = (2) wger (3 R« (4) ST
Myopia is connected with :

(1} Ears -~ {2) Eyes (3) Lungs (4) None of these
AT R S 7 7 |

(1) @ (2) oifa (3) HHST (4) ST | g T

Night blindness is caused by lack of which vitamin ?
(1) Vitamin A (2) VitaminB (3} VitaminC (4) Vitamin D

fpe faeafi & &0t & i et ' 7

() Fefm o (2 Rl Q) berm @ @) berm

The human cell contains :
(1) 44 chromosomes (2) 48 chromosomes
(3) 46 chromosomes (4) 23 chromosomes

Wﬂfﬁﬁﬁtﬁﬁﬂ%ﬁtﬁﬁn@%??
(1) 44T (2) 48FHNH (3) 46FHHERIE  (4) 23H:HSH

Which of the following helps in clotting of blood ?

(1} Vitamin B (2) Vitamin B,
{3} Vitamin D (4) Vitamin K

17 P.T.O.
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55.

56.

57.

58.

T A BN G & G - G Ak H GEEEH § 7

(1) Frefds &, (2) fedas o,

(3) faere= = (4) fereiee &

The largest part of the human brain is : |

(1) Medulla oblongata {2} Cerebellum

(3) Cerebrum (4} None of these
A ARASh @ B ° e g9l @81 8 7

(1) AT SAeETer (2) @R—Eﬁﬂ

(3) |/WH (4) T8 4 @iy T8l

Lock Jaw_, i.e., difficulty in opening the mouth is symptom of :
{1) Cholera (2) Plague (3) Tetanus (4} Diphtheria

i St Aty dg e F B e SHrd b1 wEor § 7
(1) T (2) < (3) fee=™ @) feefifan

Amnesty International is concerned with :

(1) atomic power regulation (2) international crime
(3) human rights violation ~ (4) human health
QAN e & Hyery fohaa 8 7

(1) XA gy romeT (2) ST gy

(3) WEMEEHR IieT (4) HFE W™
The second highest mountain peak in the world 1s :

{1) Nanga Parvat (2) Nanda Devi
{3) Andes 4) K2

18
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60.

61.

62.
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fasa @ gEd =9 SN A B G R ?

(1) = gda (2} =R

(3) T ITUSH 4) H-2

Food is normally digested in the :

(1) Liver | (2) Stomach

(3) Small intestine (4) Large intestine

doF R # e guar & 7

(1) e} 2) Yo (3) I A (4) FqST AT

EEG is used to detect problems in the electrical activity of which
organ ? '

(1) Brain (2) Hea;‘t (3) Kidneys {4) Lungs
gsofl IR & O e & 7T &7 uar @ me B 7

(1) ARkT=R (2) T&g (3) T (4) HEHST

"The Central Rice Research Institute of India" is locatred at :
(1} Kolkata (2) Cuttack (3) Bangalore (4) Mysore

“qRE W N aEe v g R o

(1) =HIRET  (2) FHTH (3) SRR 4) AL
Who wrote Kamayani ?

(1) Premchand (2) R.N. Tagore

(3) Jaishankar Prasad (4) Kamaleshwar

19 P.T.O.
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63.

64.

65.

66.

67.

R B AEEH BT & 7

(1) D= (2) @TouTo 3T

(3) TEYH g9 (4) FHFEQRAY

Which is the capital of Afghanistan ?

(1). Kabul (2) Kandhar (3) Rawalpindi

TR & (oTe= & & 7
(1) e (2) HITX (3) YEwtaSt

When did the Swadeshi movement start ?
el TSl e AT g7 7
(1} 1905 (2) 1919 (3) 1927

Which of the following diseases is caused by virus ?

(1) Small pox (2) Cold (3) Malaria

o A B @ A aeRE A B

(1) aA=F (2) &l (3) HAfRAT

When did the Bhopal gas tragedy take place ?

g I AT Ha gg oAl 7
(1) 1980 (2) 1984 (3) 1991

Pound sterling is the currency of :

(1) UK. 2) USA. (3] UAE.
urSre il @l @t gEr € v
(1) Hodho (2) JouHoUo (3) YoUogo

20

(4) Sindh

(4) &

(4) 1930

(4) Cholera

{4) <bIST

(4) 1994

(4)New Zealand

(4) goiee



68.

69.

70.

71.

72,
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“World War [ started in the vear :

T97 999 IE HY TREA ol 7
(1) 1914 (2) 1918 (3) 1930 (4). 1945

Which article lays down the provision for amendment to the Censti-
tution ?

WA Siagr § d@9ie o oqae e ay 5 8§ 7
(1) 215 (2) 320 (3) 324 (4) 368

- Who were the first Europeans to come to India ?

{1} The Portuguese (2) The Dutch
(3} The English ' (4) The French
W H I g ggd & gadig & ?

(1) germet () ==

(3) FTT (4} HIErE!
"Which is the first month of the Indian National Calendar ?
(1} Asadh (2) Baisakh

(3) Sawan (4) Chaitra
HRAT BelvsT HT I HEMT B T & °

(1) AT (2) Jme"

(3) HEae (4) ==

Who was the first woman chief minister of a state in India ?
(1} Vijayalakshmi Pandit (2) Sucheta Kriplani
(3) Indira Gandhi (4) Sarojini Naidu

21 P.T.O.
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73.

74.

75.

76.

e # Rt wow @ el "feem geadsi @i i ?

(1) Fsawsd diq (2) g o
(3) sfexr Wi (4) GATH ATg
Which is the ﬁaﬁonal bird of India ?

(1) Peacock (2) Nightingale (3) Koel (4)
AR ol W welt a7 T 7

(1) . =X 2 FIgT (B WA (4)
Which is the capital of Bhutan ?

(1} Leh (2) Tirana (3) Djibouti (4)
e FHI AT FT B 2

(1) (2 fem (3) frgd (4)

Tirthankar is associated with : _
(1) - Buddhism (2) Jainism (3) Hinduism (4)

fefe Pre ud @ watad § 7

(1) = (2) S @) =g )
Who was the founder of the Mughal Empire ?
(1) Sher Shah (2) Allauddin Khilji-
(3) Humayun (4) Babur

T | @ T e @ ?
(1) R=ME (2) oWEEEH (3) B (4)
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77.

78.

79.

80.

81.

12U/113/26(i)

Sepoy Mutiny of 1857 startcd from :
(1) Arga (2) Gwalior (3} Jhanst (4) Meerut

1857 &f FamEY fagle ®al @ e goT 7

(1) AR (2) @Y (3) SR (4) A
Who gave the satement, 'Swaraj is my birth right’ ?

{1) Lokmanya Tilak {2) Mahatma Gandhi

(3) Subhash Chandra Bose (4) Bhagat Singh

FRER g el ‘e A o R At ¥ 7

(1) A e (2) HerHr e

(3) gAY I= ANY (4) wa e

The maximum gap between the sessions of Parliament can be :

(1) 3 Months (2) 4 months (3} 6 months (4) 9 months

dag & IRl & S Af¥man sraud faaar & g B 7
(1) 3 7B (2) 4 "98F  (3) 6 FEA 4) 9 7EM

Who among the following was named 'Vikramaditya' ?
(1) Ashoka (2) Akbar
{3) Chandragupta II . (4) Samudragupta

398 9 %9 RAeaiRe & 99 9 S| 19w ?
(1) 3787k (2) SFHIT (3) =R fada (4) @R Ia

Megasthenes was a ....... ambassador in India.
(1) Hun (2) Greek (3) Chinese (4 Arab
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82.

83.

84,

85.

1y &8s\ (2) gAY (3) HIHL (4) T

The minimum age for the office of the President of India is :
(1) 25 years (2) 30years (3) 35 years (4) 45 years

AR B [AEEARY I & I =gaq dg /=1 8 ?
(1) 25 a¥ (2) 30 a9 (3) 35 a9 (4) 45 T

Which of the following awards is given for literature ?
{1} Pulitzer (2) Templeton (3) Oscar (4} Grammy

= 8 B 91 &R A & o Rar sar @ 7
(1) 9ok - (2)  Tgees (3) ofiwY (4) I

A Passage to England "was written by :

(1} R.K. Narayan (2) Nirad C. Chaudhury
(3) Karan Singh (4) Anita Desai

“g 9d7 g grive” fean Rren ?

(1) SRoFHo AT 2} kg Fo P

(3) =T Ris (4) ST 39E

The world wide web is related with :

(1) internet (2) television (3) radio (4) telegraph

TS AEs A9 W RReY Ty ¥ 7

(1} Z=\< 2) <@fdss  (3) MsAn (4) IEATH
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87.

89.

12U/113/26(i)

Which is National Pollution Prevention Day ?

(1) 2 December (2) 16 April

(3) 11 August (4} 19 November

I ey Rae &y /9mm S 8 7

(1} 2 Re=x (@) 16 3a®@ (3) 11 PR (4) 19 AT

Which of the following rivers flows from the Mansarovar lake ?

(1} Sutlej (2) Jhelum

(3) Brahmputra (4) Yamuna

T8 | & 9 7 JrreRE] e @ Feeadr 8 7

(1) S @) ¥ (@) sEgT (@) T

Which state is the highest producer of onions ?

(1} = Kerala (2) Maharashtra
(3) U.P. (4) Tamil Nadu

W H G99 99T 916G U BT qr & 7
(1) = (2) "Rz (3) Zodlo (4) T

Which is the oldest Veda ?
{1} Rig Veda (2) Sama Veda
{3) Yajur Veda (4) Atharva Veda
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IS grw AT WA G e ?
(1) =4 (2) dHAE  (3) T (4) IrEREE
90. In which state was India's first nucleur test in 1947 conducted ?

(1) Gujarat (2} Rajasthan
(3) Madhya Pradesh {4) Orissa

1974 F ARG 1 ST G TQET R e H R ar ¢
(1) ERE (2) TSRS (3) FHURAN (4) Igmr

91. Which planet has the maximum number of satellites ?
(1) Uranus (2) Saturn (3) Jupiter {4) Mars
e W & 99 @qita® I9uE T 7
(1) =9 (2) sifw (3) wewfa (4) T

92. When was the highest national award, Bharat Ratna started ?

Fetee U gIE@RIY, R, T, Fd A GAT?
(1) 1954 2) 1960 (3) 1971 (4) 1977

93. In which year did India become a member of the U.N. ?

qRd fr g |y ISg H G &4 7
(1) 1948 (2) 1947 (3) 1946 (4) 1945

94. Which of the following is not an official language of the U.N. ?
(1) English (2) French (3) Chinese (4) Japanese
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95.

96.

97.

98.

12U/113/26(i)

sﬂﬁﬁﬁ?@ﬁgwwﬁreﬁ@wﬂﬁ%?

(1) SfIst (2) wd (3) == (4) ST
Vijay Tendulkar is known for :

(1) drama (2) cricket (3) politics (4) film
fsrar cigaept P &5 # s oira B 7

(1) e (2) fade 3) e (4) fa=em
What is blog ?

(1) laptop (2) mobile

(3) personal journal on web (4) newspaper on internet
T 4T B 7

(1) Iy

(2) HremEd

(3) A7 g R i arer Pf daA
(4) AT 9 WHRIEET §HER

When did Bangla Desh become a nation ?
SRR TS ha AT 7

(1) 1969 (2) 1971 (3) 1972 (4) 1974

Who was Bhupen Hazarika ?
(1) Painter (2) Dancer
(3) Novelist (4) Musician and singer
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U BH BT & 7
(1) TSR (2) TIER
(3) IIHTEHERX (4) ENIHR od TS

99. What is Anna Hazare agitating for ?

(1} Lokpal (2) Jan Lokpal

(3) Lokayukta (4} Jan Lokayukta

ST B9IR Tohdeh fore STi=ierT 3 @ § 7

(1) parA (2) SR

(3) TAIRIERT (4) STRIgeRT
100.Where is atomic power plant situated in U.P. ?

(1) Rawatbhata (2) Tarapur

(3} Narora {4) Kaiga

IR R F GO Sl gas wE T ?
(1) wIgamer (2) dRgR (3) W (4) 3

101. What is the percentage of Oxygen in the atmosphere surrounding
earth ?

g & FRY oIR B ammeRer § ofefiord & 7 fhaeh B9
(1) 78 % (2) 63.5% (3) 33.9% (4) 20.95%

102.Which is the boundary line between India and Afghanistan ?
(1) Durand Line (2) Hindenburg Line
(3) Mac Mohan Line (4) Radcliff Line
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MRA SR STHTERAT & €91 &7 & =l Hed & ?

(1) ST= 3@ 2) TE=-as e

(3) HpHIEA @& 4) Ysfmw Tar
103.Where are pyramids found ?

- (1) Afghanistan (2) Syria

(3) Egypt (4) Nigeria

frfe w8 9 sid 8 7

(1) TR (2) Hfar

(3) Prw (4) ST
104.Dada Saheb Phalke award is given in the field of :

(1) Dance (2) Music (3) Social work (4) Film

TET G Bd YRR e as F fRar swr B °

(1) I (2) Gfa

(3) @R @i (4) fo=
105.1In which city is Olympics 2012 going to be held ?

(1) Munich (2) London (3) Sydney (4) Berlin

shafqes 2012 el & ?

(1) =gFrE (2) <A (3) fas+i (4) =RAT
106.Which one is not a pbrt on the east coast ?

(1) Kolkata (2) Paradip

(3) Kochi (4) Vishakhapattanam
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& A B W gaere gt ae uw T8 ¥ 7
(1) HITpIIT @) Yl
(3) ===l (4) feremeEmyeTy

107.When did the Jallianwala massacre take place ?

ST aFT AES S §AAT 7
(1) 1916 (2) 1919 (3] 1920 (4) 1921

108.When was Bengal Partitioned ?

ST T AT e ger ?
(1) 1901 (2) 1905 (3) 1909 {4) 1911

109. Which state has the highest literacy rate ?

(1) Maharashtra - {2) West bengal

(3) Kerala (4} U.P.

fre o # grrar geg sifvs § 7

(1) HBRIST (2) Yo M (3) BIA C(4) 3@ 2T

110.Indian railways are divided into :
(1} 20 zones (2) 16 zones (3) 12 zones {4) 9 zones

a0 @ faw 8= (S9) 7 afer T g ?
(1) 20 2) 16 (3) 12 4) 9

111, The scientist who ﬁrét discovered that the earth moves round the sun
was : :

{1} Newton (2) Dalton (3) Copernicus (4) Einstein
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112.

113.

114.

12U/113/26(i)

veel s Rraa @er 9 gedt gd & el iR gEel 8§ 7

(1) g (2) Swed

(3) IR E (4) STSHCEA
Who is the Chief Election Commissioner of India ?

(1} 8.Y. Qureshi (2) Navin Chawala
(3} J.M. Lingdoh (4) T.N. Sheshan
WRA B g g SYET BT & 7

(1) THoado FHait (2) G =IEe
(3) StouHo TRl (4) Houdo IS
Who is the speaker of the Lok Sabha ?

"~ (1) Somnath Chatterjee (2} Meira Kumar
(3) Manohar Joshi {4) P.A. Sangama
A | B HE AT ¥ ?

(1) HAATT gl - (2) HRT FAR

(3) HART SRl | (4) dioQo HIMHT
Red Cross is concerned with :

(1) family planning ' (2) refugees

(3) relief work in war (4) financial crisis
T B H T HEg g ?

(1) 9RaR FEsH (2) SToTEt

3) =& H Usd & (4) oTfeler Heha
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115.The approximate percent Oxygen content of air is :

gar # SIFEie & gfderd e T 2 e
(1) 1 (2) 20 (3) 60 (4) 80

116. Where was India's first atomic plant established ?
(1} Rawatbhata : (2) Kalpakkam
(3) Kaiga (4) Tarapur

ART &1 UEAT URHIY] Foll hex hel eaiae geir ?
(1} Vgqerer (2) HUERd (3) & (4) TOYL

117.1t is not advisable to sleep under a tree at night becouse of the :
(1) release of less oxygen (2) release of more oxygen

{3) release of carbondioxide (4] release of carbonmonoxide

uq | U3 % A 991 gaeanT 98 B, w=9ifs 9w

(1) AR 9 SiEar 8 (2) <R Siftes wsigar @
(3) FET TEIFNZS BISAT § (4) wEH AAIEEES SioaTr

118. By which amendment was the Fundamental Duties added to Consti-

tution ?

(1) 26° (2) 33+ (3) 42 (4) aq>

fre dfas. damaw & 3o Afce st @ 9l d@iagw §
gtaer fRam = ?

(1) zﬁa‘T"_ (2) 334 (3) 424t (4) 444dr
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SECTION-II

LANGUAGE-ENGLISH

(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers to each question.

Give the correct choice as an answer.

Directions : (Q.No.121-124) : Select the word nearest in meaning

to the given word.

121. Arrogant
(1) Violent

(3) Selfish

122. Gratify

(1) Satisfy (2) Clarify

123.Construct

(1) Complete (2} Build

124.Conceal

(1} Announce (2) Protect

34
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(3)

(3)

(3)

Quarrelsome

Proud and disrespectful

Enlarge (4) Reduce
Destroy (4) Finish
Hide (4) Seal
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Directions : (Q. Nos. 125-128) : Select the word opposite in mean-

ing to the given word :

125.Kind

(1) Cruel (2) Honest (3) Good (4)  Wise
126.Rebuke

{1} Praise (2) Award (3) Invite (4) Receive
127.Trivial

(1) Difficult (2) Easy (3} Important (4) Small

128.Frequent

(1) Rare (2) Unusual (3) Few (4) Extinct

Directions : {(Q. Nos. 129-132) : Select the correct meaning of the

given idiomatic expressions :

129.Back up :
(1) Give moral support (2) Pull from back
{3) Stay behind (4) Furn one's back
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130.Play safe :
(1} Avoid risks (2) Play simple games

(3} Play for pleasure (4) Play safely

131.To save one's face :
(1) to hide oneself (2) to oppose

(3) to evade disgrace (4) to speak plainly

132.Have an axe to grind :
(1) cause harm
(2} take revenge
(3) make unreasonable demand

(4} have a selfish interest to serve

Directions : (Q. Nos. 133-136) : Select the right word to fill in the

blanks in the given sentences :

133.There isa/an .......... to every rule .

(1) exception (2) objection (3) criticism (4) action
134.His bad driving almost .......... an accident .

(1) caused {2) made (3) created {4) resulted
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135.Nowadays they are at ....... ..... drawn though they were friends once.
{1} knives {2} swords (3} daggers (4) pistols
136.In the gqutumn season trees.. ... their leaves.
(1} drop (2) shed (3) reject (4) leave

Directions : {Q.Nos. 137-140) : Choose the correct option to form

the right sentence.

137.When you draw a circle, you use a compass.
(1) compasses {2) the compass

{(3) encon’ipass (4) none of the above

138.He wears very costly cloths :
(1} garment (2) clothings

(3) - clothes: (4) none of the above

139, My friend has very good manner.
(1) mannerisms (2) manners

(3) mannerism (4) none of the above
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140.We should keep up the moral of our armed forces.
{1} morals (2) morale

(3} morales (4} none of the above

Directions : {Q. Nos. 141-144} : Seclect the part of speech of the

bold & underlined word in the given sentences :

141. Each of the boys sang lovely songs.
(1) Indefinite Pronoun (2) Definite Pronoun

(3) Distributive Pronoun (4) Relative Pronoun

142.1 Know that he is innocent.

(1) Adjective Phrase (2) Adjective Clause

(3) Noun Clause (4) Noun Phrase

143.Ashish is pretty mistaken about his friends.
(1) Adjective of Eluality (2} Adverb of degree

(3) Determiner - (4} Adverb of manner

'144.1 saw him walking on the pavement .

(1} Gerund (2) Verb (3) Participle (4) Adverb
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Directions : (Q. Nos. 145-147) : Fill in the blanks with the correct

prepositions,
145.1 am desirous ............ visiting Singapore.

(1) in (2) of (3} about (4} off
146. We congratulated him ......... his success.

(1) for (2} in - {3) on (4) about
147.5he has a passion .............. singing.

{1} on {2) in (3) for (4) about

Directions : {Q. Nos. 148-150) : Seclect the word which has been

correctly spelt :

148.(1) recipt (2) believe

(3) charector (4) grammer
149.(1) tommorrow (2) garuntee

(3) separate ' (4) mounten
150.(1) numerator (2) foriegn

{3) rehersel {4) commandor
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SECTION-II
TUs-11
wrs -l
T a9 T RuREt & R

e gft geat & g Jias TR e ) E, Bed a8 aax
" T 2139 9El I« @A g |

151, “UEl g Sifed 79 &0 AT @rg |

N @ diad X, HAIg daw g )

Pt et ¥ ? |

(1) WHeE  (2) ®EREE (3) qEEE (4) @G w6
152.7H T oEEd [9g TRHRY @ HE |

SLET 9ieE §a e J@ed ged SthE 117

e diEr €7

(1) geeier®  (2) Ag&e™  (3) WHe™ (4) G&E
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153. “fas Mura IRF w1 FSr
a9 9 w1 sl IRy e, o9 WS e s e @ 9o v
ererenl dfRrIt E 7

(1) godieE (2) wery (3) #R @) Ye™

154.9me &l § gRaww B @A § fur o |
e et DE g F Oy 9 @ seErs 1)

fereant okt B 7
(1) TRy Bad (2) Afererer T
(3) ST TarE (4) HAREHATS =ee

155. #WerRdl aat & it & sfea & g @ &5 waeh € 7
(1) emienret (2) wRRTEHRT
(3) Qfcrepra (4) HATYTH hIcT

156. SBIN-ET B TFH He st AT HT 9T 8 141 7

(1) gaE™ (2) H=T (3) TereErdy (4) g%
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157. Qrehd fehee v B 7
(1) =fex arees (2) AferceRer o
(3) ghEn Sas 9a (4) TEqis SureE

158. ‘e’ fpaa o s 8 7
(1) HaEy (2) gaslq
3) S9' (4) I=gx gl YAl

159.%3%@@1?%%%:
(1) T (2) STBTS T 98
(3) 2T " (4) e

160. ‘Try eftgdn’ fhasr Aes 8 ?
(1) STFsTHR waE (2) WAy Bfiwsix
(3) AT T (4) ST qeTERT

161. e THER T a0 it A e % e w5 gerss @
T AT B 7

(1) B afe @ ks

) & e & sfemy &t sqfdvenr
(3)%%&%@3&1‘@1?
(4) S aife & Jenies k™
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162. Vg s e’ Rree freg 7 7

(1) el X3 (2)

(3) TR SR (4)
163. [ 9K W/ =G IO

(1) Io9adT (2) o (3)

164. Y& UK B FAT M
(1) =T (2) HaHE (3)

165. ‘SFIEIY 9% H S AR-REd 8

(1) g o+ g )

(3) ST + & (4)

166. ‘T % F Y& HA-FEST 2

(1) & + <& (2)

(3) Y + T (4)

167. OEAd 9=’ Wl FA- DI
(1) ST (2) A (3)
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st sl maE A<t
A HeEdiR vde fEad

Joodo (4) It

et (4) =rafas

TE + =97

ST + 397

aq + T

q + ™l
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168. [Osh 1= =1 =99 =ihaw -

(1) 4GS (2) TgAA (3) HAEHL

169. Sz %7 UIigarE v B o
(1) ST (2) = (3 e

170. ‘919 i Yga=mEr 9FR ©

(1) = @ W (3) 3w

171, ‘€AY’ 1 Fadares ae @
(1)' G111 | 2) TR (3) faemer

172, ‘T & faadiares = 8

(1) ¥ (2) ZIA (3) 9TEr

173. ot REE 9 ¥ 3@ @97 Hed © 7

(1) B€ (2) @™ (3) 37594

174. S &Y @ HIET B, IF FT Fed & 7
(1) s 2) wdiEE () el

44
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175, “TF-mEr ¥ fope garg &t AoEr § ¢

(1) =gl a9 (2) & T
(3} STARANE |HIH (4 Tap =ag

176, OO O g @HE & AT 2 7

(1) F&1 @54 (2) B8 dE1"
(3) STEIHIT HHT (4} H=EHETE wHH

177. ‘U9 Ol iy, foq 9 |99 g9 |
I TR H Y, U A g I
8 9 STEHIT F AT & 7

(1) 9T (2) I (3) orfaeEiET  (3) 989

178, ufy=edy & o5 @l w9d8 2 .

(1) &= () eTaHh (3) Hal (4} TrgmRE

179. ‘3T H =t ST el w3 @

(1) BFT HTAT (2} BT TTHMAT
(3) = gWT HT (4) T gare
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180. 31t # R w23 wfefeas w=r & AW '
(1) =T (2) ITT wHERT

(3) ERT 999 (4) T THHOT

46 16,000



10.

11.

12.
13.
14.

seafaat & fog o

(¥4 QIQE®T & T97 FET T 9T 797 JAV-97 & N 761 97
e el @i anr-age 47 1 8 ) |

T e e & 1o fire & st @ Yw & 5y § w9 g Aig § ok o
7 F21 T &1 YR ek 1 W W T 1 Toe HE- e @ Qe wege
YT &I gE g T & S |

e was B e v wdv-u3 & afafiw, foen a1 O S S gen s Wy
7 9 o

IaT- g% e B o ey 1 39 7 @ W w7 & fagpw #31 genr svv- o7 T 15T wdmi
T FAC-UT &7 § qoAeT 1 wEm

| ST ST AT IR-TA H A TH SE0-TS R 39 § Freifd wE © g

FT-9F & FUT gB 97 07 | FGA IqwmAiE (Fulita v o7 fod qer /19 79 g9 &
mer w0 &) wgl-wgl sravaw g agl wv- QRO &1 mAE TAT Qe & AT I @A
v et .

o THo Mo TF W JHH® TGA, NeIYfa®T Wew g e qeqy (3% «ig g) 7ar
VIt uv gwEie AN o WHo o 7F FEWr &1 wakal ¥ auficie &1 sguia
787 1

Iy wlateql ¥ &g ot aftad~ sy ([F0ae grr ot giar anEd sraer 98 ue sgaa
AT F M A A

xv7-gfere ¥ e g1 & A defae g0 2 md §) xhw wr & dwfas gw & R
FAF INT-H HT @R gfFy F g 179 74 g9 & Iv-97 & q9W 8 91 59 g
3 & g 9 8 mET FE 8 |

TEIH T & W & [T Hae TH & 99 R MG HY T F A4S gl @ MG FA
T 3YFT TF g9 S T T W I8 JA 1T [ A3

& & T U FIT TET AT SifET SRV ago g1 W QAT §1 we 37 [&E 79T & I
721 &1 wrEd 8, @ wattw ufaw & arrd 132 wd o g &1 @ gl &1 R e W

- 3w B W

W 1 & R TeR-URTE & TEYS & 3 Gl U8 a9 S-QeT & Siftm um
& I H |

e & W daer A GW HIT IOT-0F TOe W ¥ I & <

TeT WO B ® UeS T WaT § K 9 &1 STA Aa el

afe Fig sl wen # s W @y Fa &, | 97 favafyarad g0 e
< w/H, 9 /Ent - |



	COVER-1
	IMG_0002
	IMG_0003
	IMG_0004
	IMG_0005
	IMG_0006
	IMG_0007
	IMG_0008
	IMG_0009
	IMG_0010
	IMG_0011
	IMG_0012
	IMG_0013
	IMG_0014
	IMG_0015
	IMG_0016
	IMG_0017
	IMG_0018
	IMG_0019
	IMG_0020
	IMG_0021
	IMG_0022
	IMG_0023
	IMG_0024
	IMG_0025
	IMG_0026
	IMG_0027
	IMG_0028
	IMG_0029
	IMG_0030
	IMG_0031
	IMG_0033
	IMG_0034
	IMG_0035
	IMG_0036
	IMG_0037
	IMG_0038
	IMG_0039
	IMG_0040
	IMG_0041
	IMG_0042
	IMG_0043
	IMG_0044
	IMG_0045
	JMG
	KMG



